
1 
 

 

 

 
MINI iGO 
PARTS CATALOGUE                

 
 

Linemark (UK) Ltd 

NOVEMBER 2014 
 

Issue 1 



2 
 

 

 

 

 

1PART007 BAYONET 
CAP FOR 
CONE 
NOZZLE 

 
1PART021 FLAT 

WASHER 
M12 X 24 X 
2.5MM Z/P  

1PART022 RUBBER 
WASHER 
M12 X 24 X 
2MM  

1PART036 10MM X 3/8” 
PUMP & 
SPRAY HEAD 
ELBOW 

 
1PART044 IN LINE 

FILTER BLUE 
MESH 

 
1PART055 DVC BODY 

 
1PART062 EPDM SEAL 

FOR 
NOZZLES 

 



3 
 

1PART067 RED CONE 
NOZZLE 

 
 

1PART069 HANDLEBAR 
GRIPS 

 
1PART074 CABLE TIE 

 
1PART077 10MM PIPE 

 
1PART097 M8 X 15 

HEXAGON 
SET SCREW 

 
1PART098 M8 NYLON 

INSERT 

 
1PART099 M6 X 25 

HEXAGON 
SET SCREW 

 



4 
 

1PART108 RUBBER 
GROMMETS 

 
1PART110 WING KNOB 

M6 X 15 

 
1PART125 RIBBED 

INSERT 

 
1PART126 SPRING 

WASHER 
M12 

 
1PART128 RIVET 

 
1PART129 M5 X 12 

POZI PAN 
SCREW 

 
1PART133 M8 FLAT 

WASHER 

 



5 
 

1PART135 SPACING 
WASHER 
(FOR 
SOLENOID) 

 
1PART174 10 X 1/4 

FEMALE 
STUD PFS 
10/04 

 
1PART175 REDUCING 

NIPPLE 3/8 
X 1/4 
TRC06/04 

 
1PART176 1/4 NPT 

MALE 
THREAD 
PLUG 
VALVED  

1PART179 PUMP 35PSI 

 
1PART180 12-7 AMP 

BATTERY 

 
1PART181 
 

20MM 
SQUARE 
RIBBED 
INSERT 

 



6 
 

1PART185 COMPLETE 
CHASSIS 
KIT (MINI 
IGO) 

 

1PART186 10MM X ¼ 
ADAPTOR 
FOR 
SPRAYHEAD 

 
1PART187 10MM X ¼ 

ELBOW FOR 
SPRAYHEAD 

 
1PART188 10MM X ¾ 

ADAPTOR 
FOR PUMP 

 
1PART189 BATTERY 

CHARGER 
FOR MINI 
IGO UK 

 
 

1PART190 SYPHON 
TAP 

 
1PART191 WHEELS 

FOR MINI 
IGO 

 



7 
 

 

1PART192 STAR CAPS 

 
1PART193 WIRING 

LOOM 

 
 

1PART195 PLASTIC 
ROD 

 

 

1PART196 MAGNETIC 
CATCH 

 
1PART197 BATTERY 

CHARGER 
MINI IGO 
EU 

 
1PART199 BATTER 

CHARGER 
MINI IGO 
USA 
  

1PART200 5/16 HOSE 
BARBED 
SOCKET 

 



8 
 

1PART201 BONDED 
SEAL 
WASHER 

 
1ASSY011 DISC & 

ARMS 

 
 
1ASSY023 
 
 
 

ROD 
ASSEMBLY 
FOR MINI 
IGO BAGS 

 

1ASSY024 
 
 
 
 

BLEED 
VALVE 
ASSEMBLY 
INC SPRAY 
HEAD 

 

1ASSY025 
 
 
 
 

HANDLEBAR 
ASSEMBLY 
MINI IGO 

 

1ASSY026 
 
 
 
 

PUMP 
ASSEMBLY 
MINI IGO 

 
1ASSY027 
 
 
 
 

DISC ARM 
ASSEMBLY 
MINI IGO 

 



9 
 

1ASSY029 
 
 
 

3 WAY 
VALVE 
ASSEMBLY 
MINI IGO 

 
1ASSY030 
 
 
 
 
 

ROD 
ASSEMBLY 
5LT BOTTLE 
MINI IGO 

 

1ASSY031 
 
 
 
 

SPRAYHEAD 
ASSEMBLY 
MINI IGO 

 
 

 


